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Question N. C. 
Level Answer Marks Total 

Marks 

1 4C 

a) 70
b) 17
c) 1070
d) 10070

e) 1300
f) 14
g) 9
h) 7600

All 8 correct – 2 marks 
5 – 7 correct – 1 mark 
Less than 5 correct – 0 marks 

2 

2 4C 

a) 13
b) 260
c) 207
d) 3000

e) 37
f) 600
g) 9000
h) 100

All 8 correct – 2 marks 
5 – 7 correct – 1 mark 
Less than 5 correct – 0 marks 

2 

3 4B a) 90, 109, 909, 990, 1009
b) –8, -6, -4, -2, -1 All correct – 1 mark 1 

4 4A 

a) Montreal
b) London
c) 7o

d) Moscow

All correct – 2 marks 
2 correct - 1 mark 2 

5 4C 7, 10, 20, 100, 200 
All correct – 2 marks 
3 – 4 correct – 1 mark 
Less than 3 correct – 0 marks 

2 

6 4A 9, 10, 20, 99 All correct – 2 marks 
3 correct – 1 mark 2 

7 4B 

a) 6m
b) 6kg
c) 6km
d) 11kg

e) £4
f) £6
g) £20
h) £24

All 8 correct – 2 marks 
5 – 7 correct – 1 mark 
Less than 5 correct – 0 marks 

2 

8 4C 

a) 36p
b) 50p
c) 12m
d) 11kg

e) 25g
f) 8p
g) £12.50
h) 9km

All 8 correct – 4 marks 
5 – 7 correct – 2 marks 
3 – 4 correct – 1 mark 
Less than 3 correct – 0 marks 

4 

9 4C 0.1,  3,  4,  0.01, 0.75 
All correct – 3 marks 
3 – 4 correct – 2 marks 
Less than 3 correct – 0 marks 

3 

10 4C 

a) 7
b) 7
c) 108
d) 212

e) 1003
f) 7
g) 5007
h) 3012

All 8 correct – 2 marks 
5 –7 correct – 1 mark 
Less than 5 correct – 0 marks 

2 

Total 

22 
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Question N. C. 
Level Answer Marks Total 

Marks 

1 4B 

a) 36
b) 49
c) 64
d) 81
e) 6

f) 8
g) 7
h) 48
i) 8
j) 9

All correct – 2 marks 
6 – 9 correct – 1 mark 
Less than 6 correct – 0 marks 

2 

2 4B 

a) 56p
b) 63p
c) 49p
d) 36p

e) 72p
f) 48p
g) 56p
h) 54p

All correct – 2 marks 
5 – 7 correct – 1 mark 
Less than 5 correct – 0 marks 

2 

3 3A 1062, 1343, 8262 All correct – 3 marks 
2 correct – 1 mark 3 

4 3A 668, 338, 3147 All correct – 3 marks 
2 correct - 1 mark 3 

5a 3A 512km – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

5b 4C 348km – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

6 3A 2806 – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

7a 4B 889 – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

7b 4B 1880 – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

7c 4B 3114 – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

7d 4B £364 – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

7e 4B £2.34 – any method of working Correct answer – 2 marks 
Correct method – 1 mark 2 

8 3A 
Equilateral – 3rd from top 
Isosceles – Top 
Scalene - Bottom 

All correct – 1 mark 1 

9 3A 
a) 66mm     b)  37mm     c)  54mm

Check actual measurement. Allow 1mm 
either way 

All correct – 2 marks 
3 correct – 1 mark 2 

10 4B a) 5, 4 b) 5, 1 1 mark for each correct part 2 
11 3A a) 8       b)  5 All correct – 1 mark 1 
12 4C a) 33kg     b) Roy 1 mark for each correct part 2 

Total 
34
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B3     3C 3B 3A       4C 4B 4A 
0 – 11 12 – 18            19 – 25            26 - 32    33 – 41           42 – 50            51 - 56 

Total Marks A + B = 56  
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